Y
T

\[
Jd

I~

N\
S




(#%&=K1)

((#FHR)

No.

o}

A Lk T R

9

IR

Sl

)i ik

3

kel
(EEEH)

1-1




(#%&=K1)

(EHBR)

No.

o}

A Lk T R

9

IR

Sl

)i ik

3

kel
(EEEH)

2-1




IERIFE—E

=FEKELEME
#ER1) (;EEQE'HEBE )W . _—
T % % A % O B K e
No. % % 5 H]FH m ol o = 5 E I3 (LB
BEEE L EEREKEME | SELUTHRI0%E
BIEICHESHEKREIRT |HE~RMHRI612
-1 % &bk 47 A | 1FEIE (A=2,000m AT
3 SEKE MR FRROT2%ES
%gggfﬂmaﬁﬂl$ ﬁ#ﬁ%ﬁ % mqa&¢mmmpzm
3-2 6’7‘ﬁ @E:I$ 1;%61;73 “&I (fﬁﬁ%% (b350>< ]\*Lfﬁg? ,ﬁﬂﬁaﬁ
REE T
BB S EEEILREKE g%ﬁﬂmgm%
hBIE (70 4) ik~ RHAR
) * 0875 1 Hh 2t " DIP - GX (¢ 300mm L=309m) 38 X
3-3 17 R ETXE % n=1% ARLIRT
REREILAREKERRE ELHELLI538%
= gﬁ;ﬂﬁm”” DIP - GX (¢ 150mm L=221m) & X
3-4 8+ H EIE & n=1& AT
®ERET
1R KIS 1 BEKNSIE | BEATERS23
T &t B EREEA=2TTd R
3-5 44 B JKEHEER HOVEEEA=ON  EKithsh AALIET
my 7w o#EE—=
%%E%E&EE(—HQ) 25 g@;?@?ﬁm
(Ghzl - HBI) BEfR ~ s "
6 KERBISRAGHEE LP0EME | 4,5 | grgy BOT R BE(G150mm AHLIET
ITE (20 2) (ZfESES% =155m ¢ 100mm L=25m
EHEISE
HE9052 S E R E TS ﬁgg.lﬁﬂi:%%go%]
BERKEHRETE H#h 5 ~ R = F195 ) " . .
3-7 %iﬁ{f’{__‘, S’TH %I$ ?};VE:$R%(¢100mm L—185m)/ﬁ* *E%ﬁﬁ%A*L Eﬁ&'ﬁ,ﬁﬂ %%jﬁ%? (ﬁ'E‘IJ.IT'ﬁ) t@Tﬂnﬁ#ﬁb\%&é’Jf:
XK X%

2021/1/121EERETEIHIR2.12.31




IERITE—E

=FKEDLER

(1) ( FEEGHERIE )
w T % 2 s ALk O R R 5
' %, iF/’F % R T 1% 5 5 ik 7] (EEE)

TESNSRHEKEMRE T FEUHE41633

£ (£M02) e ~KESS
4-1 B3 44 A BIE MKERYELEE SERR ARLRT

HEAC1 S ENEKEMR FELUTEHICE

BEIE (04 th 5 ~ [E167%2
4-2 5 34 B BEIE MAKSRYULELEE A&/ ARIET

BREAEIRTE (LE) gE LT £ 1390

Eik sMIE

43 m 378 | BEIE BE - mEOALHE AT

BEAEEILE (TH) HBKEER
4-4 4+ R FEIE BRE - TEORATHE AFLIRT

[REIMEFBELS ﬁ%f{g;ﬁ%;ﬁm

RRE46T% BEDRAHE
4-5 4r B BATE EKE - BEKE - BKEOR AT THEOES
iz}

HE1089 5 R B /K E MR gE LT AE5:2190

= ﬁggﬁgk% HIVP-RR ¢75 L=72.9
_ i - =/2.9m
o 7R BIE 1em A=350n ARL#ET

2021/1/12##¥1ER2.12.31




TEREFE—E

(HEzt1) ( KR )
. T £5 % & g NS e
* % T 5 H w5l i 7 5k ] (BB
L7 % K 35 FE FE AL IR I i 18 fgmﬁimzms%
HBREETSE = iz s
B KEHEER |RISHEER. phit Sa%(E., :
5-1 64 A TE  |Ehiteis AT
KB B SR BEITIE FEUTERLIE
8 IRMas 2 7 2 z(
5-2 g | BEED ey AALIET
ax = BEERARY TR - RS
$BcH 1=
IWAEKISE ESERMBHR |EILFILAE e o .
BI=s 1 %E%I%%%%)bﬁ?ﬁ —éit
. BEER R 1=
-8 7R BATE Ermmpmmcis (X ARLET
EOSTARBEAREEISE |[ELUTAERLIE
D1 512 45K - BIPACEA AR Y
7 - #%PACEARY T
_ KBRS |1ER54% KIS  BTPACEAR Y &
5-4 47 TE | T - EPACE AN S - it AT
Y—EEARY TS
EABKIE  REET T A
ILARZEKIBI R GRKith) 7 [ELUFLASSE
BIERHEYIE # o
5-5 R MOES mamamemast e AHLIET
i%Faﬁiﬁgi%iﬁébKﬁ%ﬂf‘zj gﬁﬁa@mﬁsrﬁ%zs
KT o ieaos
5-6 44 A EXI=E 1??3%_77;5\,/2'};/70 AFL¥RT
RS KIBE KK ETE |EEATHIER523
FIE i
5-7 54 A ESITE BAARKEE 28 AFLERT
MEERE—RUE _BK [ ELTHMR442]
HEE - ARFIRMEEBRE  BFH063 5
5-8 |BXTH AP | BRIE EEBREBRIER 26 AKLIRT

2021/1/12;%7KPIR2.12.31



